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Ancient alchemists believed that it was possible to .......... lead into gold.

1) transmute 2) direct 3) transfer 4) mingle

Dan always beats me at chess because he develops such an ......... game plan that | can
never predict his next move.

1) objective 2) ambiguous 3) elaborate 4) eventual
His election as President represented the .............. of his career,

1) periphery 2) motivation 3) triangle 4) summit

She found the job frustrating, and felt she wasn’t ......... anything there.

1) satistying 2) accomplishing 3) evolving 4) flourishing
Britain’s ......... over its colonies was threatened once nationalist sentiment began to
spread around the world.

1) independence 2) preference 3) compromise 4) hegemony
He ...... «seos All of his success to his mother’s undying encouragement.

1) interprets 2) converts 3) attributes 4) results

You can .......... the flavor of most dishes with the careful use of herbs,

1) enhance 2) impress 3) precede 4) initiate

The pirate Blackbeard had a reputation for being a harsh, .......... man,

1) prevalent 2) ruthless 3) perpetual 4) reliable
Being a direct relative of the deceased, her claim to the estate was ............ .

1 reckless 2) profound 3) legitimate 4) prominent

There are more than thirty species of rattlesnakes, varying in length from 20 inches to six
feet and also varying in ........... of venom.
1) toxicity 2) detection 3) conguest 4) domination

[PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or |

| (4) best fits each space. Then mark the correct choice on your answer sheet.

12-

13-
14-
15-

Football is (11) ....... ball game in the world and the most popular as a spectator sport.
The simplicity of the rules and the fact that it can be played practically everywhere
| ) [T to this popularity. It is played on all continents and in more than 200
countries. At the 2000 census (13) ........ by the world governing body, the Federation
Internationale de Football Association (FIFA), (14) ........ some 30 million registered
players at all levels. In addition, there are (15) ....... casual players involved in pickup
games in streets, on parking lots, on school playgrounds, in parks, and even, as in Brazil,
on beaches.

1) the widely most played 2) the most widely played

3) played most widely 4) played the most widely

1) will have contributed 2) will be contributing

3) had contributed 4) has contributed

1) taken 2) was taken 3) that taken 4} to be taken
1) were 2) there were 3) they were 4) which) were
1} many million 2) many of millions

3) many millions of 4) many millions

M}M%hd’)éM}‘@“)UQ‘GW"}&?'@PT
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PART [T Readlng Cnmprehensmn

Directions: Read the following three passages and choose the best choice (1), (2), (3), |
jor (4). Then ma:tk n‘ on your answer shm:

Passagel

We can see how the product life cycle works by looking at the introduction of mnstant coffee.
When it was introduced, most people did not like it as well as “regular” coffee, and it took
several years to gain general acceptance (introduction stage). At one point, though, instant
coffee grew rapidly in popularity, and many brands were introduced (stage of rapid growth).
After a while, people became attached to one brand and sales leveled off (stage of maturity).
Sales went into a slight decline when freeze-dried coffees were introduced (stage of decline).

The importance of the product life cycle to marketers is this: Different stages in the product
life cycle call for different strategies. The goal is to extend product life so that sales and profits
do not decline. One strategy is called market modification. It means that marketing managers
look for new users and market sections. Did you know, for example, that the backpacks that so
many students carry today were originally designed for the military?

Market modification also means searching for increased usage among present customers or
going for a different market, such as senior citizens. A marketer may re-position the product to
appeal to new market sections.

Another product extension strategy is called product modification. It involves changing
product quality, features, or style to attract new users or more usage from present users.
American auto manufacturers are using quality improvement as one way to recapture world
markets. Note, also, how auto manufacturers once changed styles dramatically from year to
year to keep demand from falling.

According to the passage, when people grow fond of one particular brand of a product,
its sales will ~~--—=-eeee— :

1) remain at the same level 2) decrease gradually

3) improve enormously 4) become unstable

The first paragraph tells us that a new product is ——-—--—-

1) usually introduced to satisfy different tastes 2) not easily as:ce;-ted by the public

3) often more expensive than old ones 4) often inferior to old ones at first
Marketers need to know which of the four stages a product is in so that they could -------,
1) work out marketing policies 2) increase its popularity
3) promote its production 4) speed up its life cycle

The author mentions the example of “backpacks” in paragraph 2 to show the importance
of -—-—--cemmee

1) serving hﬂth military and civil needs 2) increasing usage among students

3) pleasing the young as well as the old 4) exploring new market sections

In order to recover their share of the world market, U.S. auto makers are --—--—-——---- .

1) re-positioning their product in the market  2) increasing product features

3) improving product quality 4) modernizing product style
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Passage2

Amtrak was experiencing a downswing in ridership along the lines comprising its rail
system. Of major concern to Amitrak and its advertising agency DDB Needham, were the long-
distance western routes where ridership had been declining significantly. At one time, trains
were the only practical way to cross the vast areas of the west. Trains were fast, very luxurious,
and quite convenient compared to other forms of transportation existing at the time. However,
times change and the automobile became America’s standard of convenience. Also, air travel
had easily established itself as the fastest method of traveling great distances. Therefore, the
task for DDB Needham was to encourage consumers to consider other aspects of train travel in
order to change their attitudes and increase the likelihood that trains would be considered for
travel in the west.

Two portions of the total market were targeted: 1) anxious fliers—those concerned with
safety, relaxation, and cleanliness and 2) travel-lovers—those viewing themselves as relaxed,
casual, and interested in the travel experience as part of their vacation. The agency then
developed a campaign that focused on travel experiences such as freedom, escape, relaxation,
and enjoyment of the great western outdoors. It stressed experiences gained by using the trains
and portrayed western train trips as wonderful adventures.

Advertisements showed pictures of the beautiful scenery that could be enjoyed along some
of the more famous western routes and emphasized the romantic names of some of these trains
(Empire Builder, etc.). These ads were strategically placed among family-oriented TV shows
and programs involving nature and America in order to most effectively reach target audiences.
Results were impressive. The Empire Builder, which was focused on in one ad, enjoyed a 15
percent increase in profits on its Chicago to Seattle route.

What's the author’s purpose in writing this passage?

1) To illustrate the important role of persuasive communication in changing consumer attitudes
2) To stress the influence of the automobile on America’s standard of convemence.

3) To show the inability of trains to compete with planes with respect to speed and convenience.
4) To emphasize the function of travel agencies in market promotion.

It can be inferred from the passage that the drop in Amirak ridership was due to the fact
that ———

1) trains could not compete with planes in terms of luxury and convenience

2) trains were not suitable for short distance passenger transportation

3} trains were not the fastest and most convenient form of transportation

4) trains were not as fast and convenient as they used to be

To encourage consumers to travel by train, DDB Needham emphasized -----——-—-,

1) the freedom and convenience provided on trains

2) the adventurous aspects of train trips

3) the safety and cleanliness of train trips

4} the practical aspects of train travel

The train ads were placed among family-oriented TV programs involving nature and
America because ---—--====---,

Iy they could focus on meaningful travel experiences

2) they could increase the effectiveness of the TV programs

3) their profits could be increased by some 15 percent

4) most travel-lovers and nervous fliers were believed to be among the audiences
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According to the passage, the Empire Builder enjoyed an increase in ridership and
profits because --—----e-nvx ’

1) it was widely advertised in newspapers and magazines in Chicago and Seattle

2) its passengers could enjoy the great western outdoors

3) the attractiveness of its name and route was effectively advertised

4) it provided an exciting travel experience

Passage3

Henry Ford, the famous U.S. inventor and car manufacturer, once said, *The business of
America is business.” By this he meant that the U.S. way of life is based on the values of the
business world.

Few would argue with Ford’s statement. A brief glimpse at a daily newspaper vividly shows
how much people in the United States think about business. For example, nearly every
newspaper has a business section, in which the deals and projects, finances and management,
stock prices and labor problems of corporations are reported daily. In addition, business news
can appear in every other section. Most national news has an important financial aspect to it.
Welfare, foreign aid, the federal budget, and the policies of the Federal Reserve Bank are all
heavily affected by business. Moreover, business news appears in some of the unlikeliest
places. The world of arts and entertainment is often referred to as “the entertainment industry™
or “show business.”

The positive side of Henry Ford’s statement can be seen in the prosperity that business has
brought to U.S. life. One of the most important reasons so many people from all over the world
come to live in the United States is the dream of a better job. Jobs are produced in abundance
because the U.S. economic system is driven by competition. People believe that this system
creates more wealth, more jobs, and a materially better way of life.

The negative side of Henry Ford’s statement, however, can be seen when the word business
1s taken to mean big business. And the term big business-referring to the biggest companies, is
seen in opposition to labor. Throughout U.S. history working people have had to fight hard for
higher wages, better working conditions, and the fight to form unions. Today, many of the old
labor disputes are over, but there is still some employee anxiety. Downsizing-the laying off of
thousands of workers to keep expenses low and profits high-creates feelings of insecurity for
many.

The United States is a typical country --=---—------- .

1) where all businesses are managed scientifically

2) where people’s chief concern is how to make money

3) which encourages free trade at home and abroad

4} which normally works according to the federal budget

The influence of business in the U.S. is evidenced by the fact that ---—--—-- -
1) even public organizations concentrate on working for profits

2) even arts and entertainment are regarded as business

3) Americans of all professions know how to do business

4) most newspapers are run by big businesses

According to the passage, immigrants choose to settle in the U.S., dreaming that ------
1) they can start profitable businesses there

2) they can be more competitive in business

3) they will make a fortune overnight there

4) they will find better chances of employment
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Henry Ford’s statement can be taken negatively because -—--——- —

1) there is a conflicting relationship between big corporations and labor

2) working people are discouraged to fight for their fights

3) there are many industries controlled by a few big capitalists

4) public services are not run by the federal government

A company’s efforts to keep expenses low and profits high may result in ——-—-—— .
1) fewer disputes between labor and management

2) improvement of working conditions

3) reduction in the number of employees

4) a rise in workers’ wages
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SECTION I: Structure and Written Expression
PART A: '

{ Directions: Choose the word or phrase (1), (2), (3) or (4) that best completes each sentence. Then mark |
the correct choice on your answer sheet

= 1 —

186. Napoleon III eventually landed in England --—- 2 dethroned exile.

1) but 2) not only as 3) but being only 4) but only as
187. The triple function of Bodiam Castle's moat was to be defensive, decorative, and
the impression of impregnability.

1) double 2) to double 3) for doubling 4) to be double

188. The Romans used central heating systems very much like :

1} today's do 2) those they do

3} the systems which are now 4) those of today

189. Today carpet refers to floor coverings that reach from wall to wall rug refers to a
piece of matierial that covers only one section of the floor.

1) among 2) therefore 3)in as much as 4) whereas

190. Thor Heyerdahl nm- sail from Peru in a frail balsa craft to prove his theory of South
American migration to Polynesia.

1) set 2) who set 3) that set 4) whom set

191. Deep in the Rio Bec area of Mexico's Yucatan Peninsula — .

1) a 1,250-year-old pyramid lie 2) lies a 1,250-year-old pyramid

3) is a 1,250-year-old pyramid lying 4) does a 1,250-year-old pyramid lie

192. censored in his native Ireland and elsewhere, influenced a generation of writers.
1) James Joyce's Ulysses, 2) James Joyee's Ulysses, was

3) That James Joyce wrote Ulysses, 4) James Joyce wrote Ulysses,
193. Certain Paleolithic artifacts are given special terms —-r .

1} what the location of their discovery is

2) indicating the location of their discovery

3) whose locations are indicating their discovery

4) which indicating their location of discovery

194, lack of success and financial reward, Vincent van Gogh persevered with his
painting.

1} His 2} Due to his 3) Although his 4) Despite his

195, ~=eeemeeececeeceeeee before the stork chick moves even six inches in the nest.

1) Just over five months is 2) When just five months are over

3) It takes just over five months 4) That it takes just over five months

196. known as Stonehenge has never been determined.

1) The stone circle 2) That the stone circle

3) Who built the stone circle 4) There is the stone circle

197. = living in Birmingham, England, that the American writer Washington Irving
wrote Rip Van Winkle.

1) It was 2) While he was 3) It was while 4) There he was

198. The western part of Oregon generally receives more rain than --———-—eemeemeeee the eastern part.

1} in 2) does 3)in it does 4) it does in

199. The tiger heard the splashing, rolled into ambush position, and crouched down in the grass ——-—-—

1) to ready itself for the attack 2) to ready itself and attacked

3) made itself ready for the attack 4) readied itself for the attack
200. In the eighteenth century ---—-—-=eeeeeeee- as meeting places by literary figures.

1) coffechouses were used 2 there were coffechouses

3) even though coffeehouses were used 4) coffeehouses which were used
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201. Within the first ten minutes the chairperson knew the meeting
1) would come nothing 2) would nothing come to
3) nothing would come to 4) would come to nothing
202. Not only are reindeer used for their hides and milk e,
1) but for pulling sleighs as well 2) as well as pulling sleighs
3) also to pull sleighs 4) but they pull sleighs
203, —-= illustrator that F W Frohawk made his greatest contribution to the field of
natural history during the Victorian period.
1) A butterfly 2) He was a butterfly
3) When he was a butterfly 4) It was as a butterfly
204, — of true seals, the monk seals are considered to be the most primitive.
1) The 18 species 2) 18 species are
3) There are 18 species 4) Of the 18 species
205. The surface of the moon was shaped by the meteorites whose impact craters of all
sizes.

1) form

SECTION I: Structure and Written Expression
PART B:

| Directions: Identify the underlined word or phrase (1), (2), (3) or (4) that must be changed in order for the
sentence to be correct. Then mark the correct choice on '

206. An itch resulting when a nerve that can carry pain is only slightly stimulated.

207. A new I}nﬂ}:ry for domestic prlilanceu in the house isa_js thin :m‘l flexible as paper.

208. One out nl‘ml eight balloons in the wnr[dzarg |§ggc?'lltl.‘] at Albuqg ue:que, New Mexico.

209, Tlhe Ficturiai constructions usl-laight-,&shhur:are among the fewer architectural survivors of
the San Francisco earthquake in 1906. ] 2 ’

210. There is estimated that the {;rinn nebula contains enough matter to form 10,000 stars.

211. @ of animal protein ; the human diet is a Miﬂ use of the malnutrition. ’

212. ﬁ animals both Ilumins, chewing helps mr; tension. !

213. Tl:e firing of hri:k-s and tiles fﬂ_rs'l__lﬁ in the @ industry requires large amounts of fuel.

214. Diane ;rhus*s unusual and mntf'uversial &ik includes photograph of s_i:l_:_tii: celebrities.

215. During the two c::uiu ries between Hersr:hil and Voyager, ie!ntive!x Ii:.*le is learned about the
Planet L!'mnus. : : .

216. Some conservationists attempt to save rare domestic farm animals, such the Tamworth pig.

217. Tl:e concord can fly &r-_.g_: the Mlaa;ltic without refueling and r:arg:in;ll tons of freight.
118. Prior to the race the Im:'ses were stabled neir the track the night hii‘ure the race. ¢
219, @ has not yet been erad iat&l because of ggs niroversy concerning imm un‘ii:atinn;
220, A @ persn: snores most because lh:i mc-:mhrm:a in the nose becomes dry.

1 2 3 4
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SECTION II: Vocabulary
PART A:

Directions: Choose the word or phrase (1), (2), (3) or (4) that best replaces the underlined word in the |
riven sentence.

221. Although working closely with the government, all businesses function autonomously.

1) independently 2) conditionally 3) helplessly 4) contingently
222. Swallows are among the most agile passerine birds.
1) frail 2) beautiful 3) nimble 4) energetic

223. With the advent of cable television and the use of satellites for broadcasting, television reception
improved.

1y arrival 2) refinement 3) advantage 4) distribution
224. Most tadpoles are vegetarians, albeit those of some species are carnivorous.

1) since 2) simply 3) supposedly 4) although
225. It was worthwhile waiting 10 hours for the tickets.

1) unfortunate 2) detrimental 3) rewarding 4) adverse
226. One of the frailties of human beings is laziness.

1) talents 2) strengths 3) weaknesses 4) advantages
227. Even though the runner finished second, he was encouraged by his performance.

1) celebrated 2) inspired 3) appealed 4) attracted
228. Contemporary architecture makes very good use of space.

1) timing 2) current 3) perfect 4) well-known
229. The celebrated pianist will give a concert this weekend.

1) advantageous 2) unknown 3) renown 4) adverse
230. Working abroad is alluring to many people.

1) encouraging 2) appealing 3) refined 4) popular
231. Is there any benefit in arriving early?

1) value 2) persistence 3) advantage 4) nimbleness

232, Manitoba's leaders anticipated the changing economic environment during the early part of the
20™ century.

1) predicted 2) welcomed 3) conformed to 4) made use of
233. As a government official, Benjamin Franklin often traveled overseas.

1) secretly 2) alone 3) widely 4) abroad

234. The attorney's persistent questioning weakened the witness.

1) continuous 2) permanent 3) habitual 4) frequent
235. American poet James Merrily received critical acclaim for his work entitled Jim's book
1) disapproval 2) attention 3) praise 4) advice

236. Aside from simply being annoving, loud noises can permanently damage ear.

1) bothersome 2) unwelcome 3) sufferable 4) intolerable
237. In 1985, the Coca-Cola Company altered the secret formula of the drink's ingredients,
1) proposed 2) modified 3) restored 4} enriched

238. A revolution in women's fashion during the second half of the twentieth century made trousers
permissible for almost all activities.

1) ideal 2) available 3) acceptable 4) attractive
139. The composition of heavenly bodies can be discovered by analvzing the light they emit.
1) intensifying 2) detecting 3) observing 4) examining

240. Not until 1946 did the world chess governing body, FIDE, assert its control over international
championship play.

1) relinquish 2) declare 3) decrease 4) petition
241. Susan completed the assignment in a haphazard way.

1) efficient 2) methodical 3) systematic 4) careless
242. Candidates for the job should ideally have five years experience in similar positions.
1) preferably 2) mentally 3) cognitively 4) classically
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243, Paul Newman's apparently effortless acting skill has enabled him to play a variety of characters.

1) deceptively

2) seemingly

3) visibly

4) extremely

244. The Monroe Doctrine authorized the United States to intervene in the affairs of Latin American
countries in case of foreign invasion.

1) empowered

2) forbade

3) tempted

245, The climate of Chicago is subject to abrupt changes of weather.

1) adverse

2) extreme

3) disruptive

4) elicited

4) sudden

Dy !Eli'ﬂﬂ : Read the following passages and decide which choice (1), (2), {(3) or (4) best fits each space.

| Then mark the run'ect choice on

our answer sheet.

A few scientists are dedicated to researching mysterious unclassified (246)

other scientists (247)

———————— which

to believe exist. While these cryptozoologists keep an open

mind about their object of study, they are quick to point to cases in which the (248) -
were proved mistaken. For example, the pygmy hippopotamus, once claimed to be (249) ————— ——,

was found to exist in East Africa. The giant squid was (250)

overactive (251)
One of the most (252)
large hairy humanoid (253)

e 35 the product of an

-- until a specimen was washed up on a beach in 1873,

mysteries being investigated by eryptozoologists is Bigfoot, a
which many people claim to have seen in parts of North

America. In 1967, a film of Bigfoot was actually taken by an amateur photographer. Some scientists

are convinced of Bigfoot's existence, while others argue that Bigfoot is just a(n) (254)
The Loch Ness monster (253)

which (256)

(258)

its existence, Such (259)

e similar disagreements among researchers. In this case
some scientists argue that while some creature may have been seen, it is probably a type of whale

the loch when the river Ness floods.
The Yeti of the Himalayas may be the most fascinating (257)
the Yeti or its footprints, and local inhabitants of the mountains are convinced of
mysteries as the Yeti and less well-known mysteries as the

creature. Many climbers

Congo dinosaur and the Queensland tiger will no doubt be the source of much (260) ———————
for years to come.

246.
247.
248.
249,
250,
251.
251,
253,
254.
255.
256.
257,
258.

259,
260,

1) dwarfs

1) accept

1) skeptics

1) alive

1) killed

1) inspection

1) convineing

1} instrument

1) clear truth

1) provokes

1} comprehends
1) familiar

1) always see
3) claim to have seen
1} well-behaved
1) invention

2) beasts

2) refuse

2) devotees
2) existent
2) accepted
2) examination
2) intriguing
2) puppet

2) plain truth
2) conceals
2) penetrates
2) known

2} well-known
2) discovery

3) fairies

3) tolerate

3) worshippers
3) extinct

3) dismissed

3) consideration
3) binding

3) equipment

3) elaborate hoax
3) adapts

3) discerns

3) unconsclous
2) have seen

4) eager to see
3) obedient

3) development

4) humans

4) receive

4) supporters
4) active

4) eradicated
4) imagination
4) urgent

4) creature

4) simple hoax
4) pacifies

4) perceives
4) undiscovered

4) submissive
4) speculation
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SECTION IIl: Reading Comprehension

{ Dircctions: Read the following passages and decide which cheice (1), (2), (3) or (4) best fits each space.
Then mark the correct choice on your answer sheet.

PASSAGE ONE:

It was once believed that being overweight is healthy, but nowadays few people subseribe to this
viewpoint, While many people are fighting the battle to reduce weight. studies are being conducted
concerning the appetite and how it is controlled by both emotional and biochemical factors. Some
of the conclusions of these studies may give insights into how to deal with weight problems. For
example, when several hundred people were asked about their eating habits in times of stress, 44
percent said they reacted to stressful situations by eating. Further investigations with both humans
and animals indicated that it is not food which relieves tension but rather the act of chewing.

A test in which subjects were blindfolded showed that obese people have a keener sense of taste and
crave more flavorful food than nonobese people. When deprived of the variety and intensity of
tastes, obese people are not satisfied and consequently eat more to fulfill this need. Blood samples
taken from people after they were shown a picture of food revealed that overweight people reacted
with an increase in blood insulin, a chemical associated with appetite. This did not happen to
average-weight people.

In another experiment, results showed that certain people have a specifie, biologically induced
hunger for carbohydrates. Eating carbohydrates raises the level of serotonin, a neurotransmitter in
the brain. Enough serotonin produces a sense of satiation, and hunger for carbohydrates subsides.
Exercise has been recommended as an important part of a weight-loss program. However, it has
been found that mild exercise, such as using the stairs instead of the elevator, is better in the long
run than taking on a strenuous program, such as jogging, which many people find difficult to
continue over long periods of time and which also increases appetite.

261. One can infer from the passage that .

1) weight watchers should chew on something inedible when tense
2) 56 percent of the population isn't overweight

3) overweight people are tense

4) thin people don't eat when under stress

262. The word crave in line 9 is closest in meaning to .
1) devour 2) desire 3) season 4) absorb
263. Which of the following is true of people based on the passage?

1) a variety of foods and strong flavors satisfies heavy people

2) overweight people have an unusual sense of taste

3) thin people don't enjoy eating food

4) depravation of food makes people fat

264. According to the passage, insulin e e -

1) is used to lessen the appetite

2) causes a chemical reaction when food is seen

3) levels don't change in average-weight people who see food

4) increases when people eat large amounts of food

265. Which of the following can be learnt from the passage about certain people?
1) Eating carbohydrates eliminates hunger.

2) Carbohydrates biologically induce hunger.

3) Carbohydrates subside when serotonin is produced.

4) Carbohydrates don't satisfy a hungry person.
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266. Which of the following is true of serotonin?

1) It is produced by only certain people in their brains.

2) It is a chemical that increases the appetite.

3) It tells the brain when a person is full.

4) It neurotranmits carbohydrates to the brain.

267. Which of the following is a good idea for heavy people to lose weight?
1) Eating plenty of chewy carbohydrates

2) Walking up stairs and looking at pictures of food

3) Avoiding stressful situations and eating spicy foods

4) Jogging 3 miles daily and chewing on carrot sticks

268. It might be best for an overweight person daily to engage in .
1) along swim 2) an evening walk

3) 10-mile bicycle rides 4) cross-country skiing
PASSAGE TWO:

Diamond value is based on four characteristics: carat, color, clarity, and cut. A diamond's size is
measured by carat weight. There are 100 points in a carat and 142 earats in an ounce. Each point
above 1 carat is more precious than each point below 1 carat. Thus a stone that weighs more than 1
carat is more valuable per point than a stone that is smaller than 1 carat.

The scale used for rating a diamond's color begins with D, which means the stone is absolutely
colorless and therefore most valuable. E and F are almost colorless. All three are good for
investments. A stone rated between & and J is good for jewelry. After that the stones take on a
slightly yellowish color, which gets deeper as the grade declines.

The clarity of a stone is determined by its lack of carbon spots, inner flaws, and surface blemishes.
While most of these are invisible to the unaided eye, they do affect the diamond's brilliance. For
jewelry, a diamond rated VVSI (very very slight imperfections) is as close to flawless as one will
find. After that the scale goes to VVS2, V81, V82, 811, 11, 12, and so no.

The final characteristic is cut. When shaped (round, oval, emerald, marquise, pear, or heart), the
diamond should be faceted so that light is directed into the depths of the prism and then reflected
outward again. A well-cut diamond will separate the light into different colors when reflected. Only
stones of similar shape should have their reflective qualities compared, as some shapes are more
reflective than others. For example, the round shape is the most reflective.

269. What does the passage mainly discuss?
1) Cost of Diamonds 2) Buying Diamonds for Jewelry

3) How to Assess an Expensive Diamond 4) Qualities Affecting Diamond Value
270. Which of the following is true of a 1-carat diamond?
1) It has 100 points.

2) It weighs an ounce.

3) It has the same quality as a half-carat diamond.

4) It costs twice as much as a smaller one.

271. The word precious in line 3 is closest in meaning to -—

1) useful 2) effective 3) beneficial 4) expensive
272. A stone that has no color at all is rated .

1) A 2)D NL 4)]

273. One can infer from the passage that a stone rated H is —

1) deep vellow 2)wery colorful 3) good for investment 4) good for jewelry
274. Which of the following is true about the clarity of stone?

1) It is determined by imperfections. 2) It is invisible to.the unaided eye.
3) It has spots, flaws, and blemishes. 4) It affects the brilliance of diamond.
275, Ome can infer from the passage that a flawless diamond is -- .

1) very large 2) rated VVSI

3) invisible for the unaided eye 4) not used for jewelry
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276. Which of the following is reflected by diamonds?

1) prism 2) light 3) facets 4) depths
277. According to the passage, two diamonds of the same shape .

1) have the same value 2) enjoy equal brilliance

3) can be compared for reflective quality 4) are usually the same weight

PASSAGE THREE:

History books record that the first film with sound was The Jazz Singer in 1927. But sound films or
talkies did not suddenly appear after years of silent screenings. From the earliest public
performances in 1896, films were accompanied by music and sound effects. These were produced
by a single pianist, a small band, or a full-scale orchestra. Large movie theaters could buy sound
effects machines. Research into sound that was reproduced at exactly the same time as the pictures
— called synchronized sound — began soon after the very first films were shown. With synchronized
sound, characters on the movie screen could sing and speak. As early as 1896, the newly invented
gramophone, which played a large disc carrying music and dialogue, was used as a sound system.
The biggest disadvantage was that the sound and pictures could become unsynchronized if, for
example, the gramophone needle jumped or if the speed of the projector changed. This system was
only effective for a single song or dialogue sequence.

In the sound-on-film system, sounds were recorded as a series of marks on celluloid which could be
read by an optical sensor. These signals would be placed on the film alongside the image,
guaranteeing synchronization. Short feature films were produced in this way as early as 1922, This
system eventually brought us falking pictures.

278. What does the passage mainly discuss?

1) History of Silent Movies 2) Research into Sound Reproduction

3) Disadvantages of Synchronized Sound 4) Development of Sound with Movies
279. If the anthor is right, then films using sound effects were screened .

1)in 1927 2) before 1896 3)asearly as 1896  4) as early as 1922

280. One can infer from the passage that .

1) sound-effects machines were not common because they were expensive

2} gramophones were developed about the same time as moving pictures

3) most movie theaters had a pianist

4) orchestras couldn't synchronize sound with pictures

281. Which of the following is NOT mentioned as a producer of sound to accompany movies?

1) A jazz singer 2) A single pianist 3) A gramophone 4) A small band
281. Why were gramophones ineffective according to the passage? Because they .
1) were too large for most movie theaters

2) changed speeds when the needle jumped

3) were newly invented and still had imperfections

4) got out of synchronization with the picture

283. The word sequence in line 11 is closest in meaning to :
1) succession 2) section 3) order 4) course

284. According to the passage, sound-on-film guaranteed synchronization because the recording was

1) read by an optical sensor 2) marked on the gramophone

3) placed beside the image on the film 4) made during the filming of the picture

285. One can infer from the passage that short feature films produced as early as 1922 .
1) preceded talking pictures 2) put musicians out of work

3) were only effective for dialogue sequences 4) were recorded by optical sensors



